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1. Find R’ in the circuit shown below.

3. A star connected load of 5Q each
connected load. Find the resistanc

be converted in to an equivalent delta

e terminals to which load is connected,

4. A load is connected to a network
Z: te the maximum power supplied to the

Rz = 10 ohms and Vin = 40V.
load.
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on fig 11 (5) ). ao

(ii) Write the mesh eq equation for the network in

fig. 11(5) (i) by inspec ©
M
8Q
e 40 SR S
100V = =
12. (@ @ tion te chnique to determine current i, in
®)
Alg
3A 403

20V source using superposition’
(8)

71763




www.allabtengg.com




www.allabtengg.com

-
(i) The number of turns two Coupled coils are 500 turns and
1500 turns respectiv 1en 5 A current flows in coil, the total
flux in this coil is 0.6x /b and the flux linking in second coil is
0.3x107° wb. Determin: L,M and K. ' (8)
14. (a) A series RL circuit with R= L = 0.1 H is supplied by an input
Voltage v(t) 10 sin 100t Vo lied at t = 0 as shown in fig. 14 (a).
Determine the current i, ve across inductor. Derive the necessary
expression and plot the 1 urves. (16)

= ‘ 3
: -~
V. @ R L3

(b) Determine the impedance ( ameter and draw the T- equivalent
circuit for the given two pc vork in Fig. 14 (b). Also, derive the
transmission line (ABCD) pa: ers from Z parameter. (16)

I 80 I,
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; 3 3200 v

15. (@ (@) A balanced A-connect havmg an impedance 20 —j15Q is
. connected to a ! 3 positive sequence supply
V., =330£0°V . al: e phase currents of the load and the
line currents. , (®)
(ii) The input power to a p is 10kw at 0.8 pf. Two wattmeters are
connected to measure , find the individual readings of the

wattmeters. , ®)
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